EARAROBEEIERT — 2 N— IBISH —F

20195F9A10H () 13m£R2H

KW >%3m% BS [xwlm | 1mEmml - |5 ) oo &
[AE4£] 1% :270,000 M ~ 23#%&:62,000"  33%&:32,000H” . 437&:24,000H . 57 :16,000 H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
< = > BRTF . - . - EiEtRe (£R)
11811 FLIFq > 3 oo 527_; 1-1 37.8 3 (5_110) *?EEE
R:VvRa914 B:YNa=7F AL
A« P22 f 3 | BAK— o =3 |mol - | 1| a5 |BERC (&R
g4 %Y v ML B2V /ALCR (-6) SRS
- # 3 | tEH 57.5 4-3 37.7| — 2 405 | SiEERE (£R)
38|10 FULZg 54.0 (1/2) -7) L%;‘EE{:
/G URN BiFUET - e
S 4 3 | EBHTE 58.0 6-7 37.2| — 5 460 | DIEEFIZR (£IR)
4 3| =730y 56.0 (2 1/2) 5 | @ A
Y9G T52 B: b=yl k=745
= HHRE . — . — 1R (29R)
s 7|27 NT ®o s wsn | | Y G |EIAs
AR AN vy B:T—71— ks
6 2| HRU—XER—IL # 3 E‘fﬂgEﬁ 5(84.)8 66 (381 — | 9 | 48 Eﬁ%ﬁ (&iR)
LA LINT Ry TR B:xXI-T)-X © pdtie]
. SHER = - =E®RZ (2R
717 9 AN 4 3 o (7§85;87) 3-3 39.3 7 ‘2(2)? i
RHTIFUFY BHITFAT— BERE Yk
SAYE-D B3 | hBED 59.1 8-8 37.9| — 10 | 417 | MEERE (£R)
11| TT¥>EF>T— 5.0 (1 1/2) we) | 0 PR bEVaL
R:d1 7 7—bEY B:I->rAOL-—> AW
3 # 3 | AHB 59.6 9-9 38.0 — 8 437 | JI7RBABA (£3R)
of7|g| N\~ hE-RHEZ 54.0 @172 Co |y PN
L:N—=YT754 B:N—rE—-FrTILY IR
= =5q BREBA M) :00. - . — BSF (£R)
10 4|17 4 3 e 1 (040) 4 10-10 | 38.6 6 (4_5;2) puihs
LT >N=H>h)— B:bhoA T84 =l =
s = 4 3 | HEHBX 1:06.8 11-11 38.6| — 11 402 | hNEEFNZE (£R)
115(5 | 39> 56.0 (54%) e
R T— VXTI — K BxHX/HA Eleikie]
® I —F—@EBIERL
13—7+—
230—7—
Jol=5r= 11,7,9,10,6,(2,3),1,8,4,5
43—F— 11,7,(6,9,10),2,3,1,8,4,5
[ N3
BB 1 410H 714K 6-11 230M % E 6-8 170H 3EHE 6-10-11 580M
8 B 1 130H4 10-11 200M B 8-6 390M K31 11-6-10 2,940
6 120/ 6-10 170 B E 6-11 620
10 140 B H 11-6 1,430M

ABICOVWTRDTEEERROODE. TR LIV,




